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— AW SN2 PIART XYY
And that is only when he was established with two names

OVERVIEW

The mawn taught us that it is necessary to write in the v his/her name and 2w 92
72\17 ww. This ruling was qualified by *w& 27 that it applies only in a case where
the person was pin°X with two names. Md0N will discuss when it is necessary to
write all the names (and in which order), and when not.

—INYR NN YWY D291 NNAYY 990 Yy 1omn 199295 19NY
They asked the n'% regarding a Jewish apostate for idol worship, who

divorced his Jewish wife -
— 031919 72 YV OV XYY M0 HY oW NON V2 AN XYY

And only his Jewish name was written in the v but not his gentile name; is the
v valid?
— 98919 YN NN 2052919 123y DY 999115 NYHN BN 13529 YN

And the n"1 responded: It is disgraceful to mention the name of idolatry in

the 77710 of ®RwW" wmn; therefore the v is W -
— 95 92 YN 022919 572 DY 1Y NPYY ) (1 pasy RNSDINA IR NONI N¥aN)

And the 0" brought proof to his ruling from that which is stated in the xnson,
a 73 who changed his name to a gentile name and he divorced with that gentile

name, the 0 is W2; indicating that initially he should use his Jewish name -
— SabRMab AN AU TN QYT 119119 PTA NI

And the same rule applies by a =72 that his Jewish name is "w> even 77>rn2b.

mooIn will prove that it is not necessary to write all the names and certainly not the 2"y aw:
— YT (3,991 JIPY 13290 NNIINY 1NN AN

And the mwn states later, if he wrote his moniker and her moniker it is w> -
— PP OV AN XYY 39 Y 9N (x 130 79 TIIPA YD)

!'See 13 "o mawn: pon n"1» w1 I90.
? Tt is preferable that we only write his Jewish name and not mention at all his gentile name.
? The 770 refers to the v3 as a (mn*2) 790 (see X°an7 7"7 8,2 '00) in which it is written X awn N7,
.
> The term > (usually) indicates that it is 72¥°72 w3, but not 771025,
® In the case of the 71 he used his original gentile name and (nevertheless even though it is a gentile name) it is “w>
(723772, since it is a gentile name); the same should apply to a 7 %" that his original name (which is a Jewish
name) should be w3 (7%°10>% since it is a Jewish name).
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And the 799 explained that 7n2°1m 102°317 is WD, even though the proper name

was not written in the v -
— (3,0 97pY) NN PH92T PHNINND V9N [N 'NNDY] (7)”1121) biaal=))

And (the 2"72) [the n"7] interprets in a similar manner the (same) w» of the

last P99 of 1°v>3 noon where it states -
— NN ININN P2 PAY 1PN 91: 0OVIY DOYYWINAY ”mﬁn NPIPN T

‘And this is how the ny77 »p1 of 2%%21° would do so’; Mo explains this
phrase to mean, that the n¥777 21 would only write N3 I12%117 in the v —

mooIn responds to an anticipated difficulty:
— Pyay 93937 DY NTNST OV 2INIPY 1Y NYIINI NPNT THMYIAT N2 NPT XM

And that which the Xn»92 states shortly, that she is not divorced unless he
writes the name which he uses in 7737 together with the name he uses in %3 —

mooIn responds, that writing all names is necessary -
— NPNN OIPNI TN NININ DIPNI TN NMIPND 722 TNV NIWIA PINTINT NPT 1D

That is only where two names are established in two places; meaning, one
name is used in the place where the v} was written, and one name was used in

the place where the 03 was delivered. mooin proves that this is the case there -
— PMNY YA YV OND MNY Y IN N7 TMNY %Y 1Y 190 NP XY XNY

For the Xn>72 did not state, ‘that he should divorce using both names if he had

two names in 77737 or he had two names generally’ -
— 99953 1NN NN TAN MNY IV 1Y YIYS NON

But rather the Xn»92 stated that ‘when he has two names, one in 77797° and one
in %95 -

— NPMN OIPN NNIN DIPN DAY 2INIY To98 INT
That then he is required to write both names; the name he uses in the place
where the v is written and the name he uses in the place where the ©) is given;

" The ®"w1mn and q"™w 0"7an read 3"72 instead of 2";19). See however later 731 7"710 X179 where it seems that the
correct X077 is 3"'7121 (this is a continuation of the n"9).
8 Literally; those of clean minds. See *"wA there 721 7"7 that 77%p WYY (their syntax was precise and short).
Generally it refers to more refined and sensitive people.
? This is how the end of the 71wn there reads: an3 PYIW DHWIAY NYT ORI 1A 791 WD TV 2N KDY N9 WOR 12 117D WOR
w> 7n3°3m 12737, The simple reading indicates (as >"w7 explains there 721 7"72) that the Ny >°P1 would sign only
1199 12 1199, However the n"2\x"72 maintains that ny77 *>p1 applies to the following statement of 71n3°1m 3%, See
T91 7"7 2,115 MdOIN that the X0 is 121 NYTA O°°R1 177 721 121 102°11 2n2. This proves that it is not necessary to write all
the names in a ) (even the 712°11 is sufficient; see [however] later in this NM50IN).
' This seems to indicate that he must write all of his names (even if he writes his P21 aw), but it is certainly not
sufficient to merely write 7n2°3m 1n2°117 (and how did the n"7 permit to omit the 2"y ow).
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the reason that in this case it is necessary to write both names; for otherwise -
— YN 11 N33 DY 1YY INININ YW RV 199N NTINT OV 19999 KD DY0)aY 1mINT

Those people in %3 will not recognize the name of 57797 (if that would be the
only name he writes in the v1), and they will say he did not divorce his wife and

they will foment gossip regarding her children from her second husband; the one

she married after receiving this v3 with only 7772w oW -
— 11592302 179N )11 TANI IJAN T2¥>7a 9YI THN DIPNA MNY MW PINNA AN

However in a place where he was established with two names in one place, the

v is TayIT2 "o even with one name and even if it is the 179%7% name and not the aw

P -
— 4AN DYPRA NN NN 1aN oMY 2IN9Y 798 19INNY 11919

However, initially it is necessary to write both names, even if the writing and

the delivery of the vi is in the same place -
— b vy 0IY 591 039 1Y VIV DI XY 19202 99NRT3

As the X3 shortly states regarding a woman who was called 2°9% by a majority
of the people and a minority called her 77w, that in the X we are to write, 27 2%

79 WO AN, and -
— ¥59m9 991 19 199 BYPI 1nat Pynwun

It seems that they called her with both names in one place, and nevertheless it is
necessary 112nn37 to write both names.

mooIn finds support from a *n5w17° that initially all names should be included:
— NONT NN TN DY Brnowisa ynawn 12

And it seems so also from »>27° 71170 on the Xnv M2 cited here, where the n5u
states -
— DYDaYW INYN NN YT AN AN NNV PN

Our Xn>m2 (which states that he is to write both names of 22931 77177°) is when he

was in ;777370 and wrote a ©3 to divorce his wife who was in the 953 -
— NTAY INMUN NN YD AN Yivra NYnvWIN

Or he was in "3 and wrote to divorce his wife in 577977%; then it is necessary to write
both names -

' This applies if both names are Jewish; however if one is a gentile name then 121 2"12y ow 257> 7277
2 See previous 921 17 mpoN footnote # 3.
' Presumably the phrase 21 Xn191 191 712 17 W7, indicates that it was in the same place otherwise it would say
72 17P 222321 72 7P 772 or something similar.
'* Otherwise if they called her with different names in different places then it would be 72v°72 %109 if both names
were not written.
159" 9"5 w3 (in our "W on 2,3). See 7"nK # 134-6.
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— HYANN 1R 90 D10 ANNAY INYN YD and) AN NN BN YaN
However if he was in 777971 and wrote a vl to divorce his wife in 777179, she is

divorced (even if he only wrote the name of 7717) -
_ Bpnsay 2nab 7098 AYHNY YAN TAPT NIDT NTH S0 529 0N

>''9 stated; this you can say 72y°72, however initially he must write both names
(even in a case where he and his wife were both in 7717).

In summation: If there are two names in the same place, 7%1n3% both (Jewish) names should be
written, however if only one name (even the 712°117) is written it is 72¥°72 “Ww>. If one has two
different names in two different places it is 2109 even 72¥>72 unless both names are written.

nooIn discusses a different issue:
— 599V NAYNIN DIPN HYIY APy NININ DIPN BY NWIY NI

And here the Xn>72 declares the name he has in the place where the v will be
given as the main (name) and the name he has in the place of writing the v as

secondary -
— 15 91MY NN OWI DDAV MIWA DIDHAY INYN YIAMY 1Y NPT

As the Xn»12 states, unless he divorces his wife in %v®3 with his ®®3 name, and

his 77797 name with it, etc. The first and main name is the 9°23 name which is the place of
73°n1 (where the wife is) and then the name of 777 (the 72°n>7 01P7) -
— 35 VAN NN DYPN HYIY sy NNSDINA AN

However in the Xn291n he makes the place of writing the v3, the main name -
— AN NNNY D92 HNN DIVI 729D ¥ ONN RN 19)

And this is what it states there: ‘he had two wives one in %°93 and one in 777%7 -
— 999 NMN’AY BVYAa YIYIAY INYNIY HIYIAYW BVAa NTINAY INYN YY)

He divorced his wife in 777> with his ®% name, or his wife in %93 with his

7770 name; it is a 910D Vi -
— By5933 99 Ywryw OUN DY ANV 1199 2IN VIN ON)

However, if he said, ‘I so and so of ;77177 with the name which I have in %5’ -
— 921919 THN 2N NN D0IPNA NNV IN

Or he was in another place (neither 77 nor 2°%3) and he wrote one of his

names it is a W vl -
— Y5 NN DYYNT Y)Y 99N NTINT OY AN IDIAN 9N INIYNI) 12 PyNY 129

11t is evident from the w1 that 75nn3% both names are to be written.
7y,
'8 This would seem to indicate that he is in 7771 (for he writes 772w "1799 *18), and his wife is in 923 (for that is the
case mentioned immediately prior), and the Xn>72 mentions first the name in 7717 (which is 72°n577 21P») and then
993w ow (which is 72°n17 03pR). See ‘Thinking it over’. See following footnote # 19.
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A"'aw= maintains, even if he wrote the 777977° name in =3 and the ®*%3 name in

775, it is WS, This concludes the XnooN.
— 19"1”’3 TINAY NN T99)2 YT ¥IVN 1) DNHNY

And it is also apparent from there that he is discussing a case when he was
divorcing in %993 the wife he has in 7797,

In summation: from our X723 it appears that the 73°n37 0pP» is primary and that name should be
written first; however from the Xno01n it is apparent that the 72°n37 01p7 is primary and that name
should be written first.

Mmoo explains our 71w based on the foregoing:
— oy mw mawn 520 AUNIA Onnun

And now we are to understand that when the mwn states, ‘he would change his

name and her name’; the mwn -
— DIPNN YN AN OY NIHN 2519 1INV N1 MY NP

Calls ‘changing’ that he only wrote one name from the two places (in which he

resides and has different names), and they disallowed this -
— NPV INY MY DN NN 9NN DIPNI 1A 1°9991 PPNV 29D

Because in the other place they do not recognize this name, and it appears to

them as changing his and her names -
— N9 OYY 199 OV Y9 U 1

And we can similarly interpret that what the 71wn states regarding changing the
name of his city and her city (that they dwelt in two cities and wrote the name of only one
city).

mooIn anticipates a difficulty:
— Y5 NNINI NN ANI (3,19 971p%) YIMIND 9INPT N
And that which the 71w states in w927 2795 ‘he wrote 7In2%1mY In2% it is WD -
— 19 DYVIY DYTWIVAY NPT P 1N TN

' Mmoo wants to prove that we are discussing a case where the 7'n3m 72°n37 0W» are different in order to support
what he mentioned previously that the Xm5on maintains that the 72°n27 2pn is Py, It would be difficult to
understand the view of 3"2w1 (that °932 7737°7 oW is W) if the 73°n11 72900 were both in 793, However if the 72°n3
was in 777 and the 72°n1 in 9°23, then it would be understood why 3"2w9 maintains it is a w3 w3, since he is called
by this name in one of the places, so we know the right husband gave the v.
20 This means, now that we understand that if he has two names in one place, one name is sufficient; both names are
necessary only if he has two names in two different places.
' Tt is obvious that ¥ mwn» cannot mean that he wrote an entirely different name. It would seem that he only wrote
one of his names (when he had two names in the same place). However, n1901n taught us that it is 72¥>72 w5 (even
now after the 71pn) with only one name. The only option is that he only wrote the local name; why should this be
called mw n1w, since this is the name by which he is known (712°n271 2pn3, which is the main name)?!
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And that is also how the n¥7:7 »p1 of 2°921 would do it’* -
— DY 2IN9Y 7598 1PN NYNNIY 199N YNRYN

This seems that even 79mno® it is not necessary to write both names, noin

concludes with the difficulty -
— Y5 TaPTa RPITT 19290N MIDYWIYA) TINNDAY D99 22X 2) DY 9N

Even though regarding 2, shortly in our X773, and in "»%219° T%n we say

that it is only 72y572 9w if only one of two names are written, so how is it that the nyT7 »p2
0°5WI77aw wrote OIlly 1N2°M N0 —

mooIn responds:
— 1YY NI DT J1INIY 1N DITWINAY NYTH P37 9 P9

It is necessary to say that the 7727 names of the av»w 2w ny77 »p1 were
known, and there could be no gossip that she was not divorced by her husband —

Mmoo offers an alternate solution:

19992 N AU NYINNIY YWY N1IYT M9NY MY AT PRIT MNIVNIYI 39 ON
Or you may also say; when the various names are similar to each other; that
the 5192 is similar to the name, then it is "> initially even with the 511%2 (only).

SUMMARY
Different names in different places is more reason to write all the names. Initially
one should always write all the names unless the "11°3 is well known or similar to
the pnam ow.

THINKING IT OVER

mooIn proves from the XnNo01N which states 22932 °% W awn oy 7772w *1190 *IX that
the 72°n27 opn is Ip°v.> Seemingly the Xn5o1N may mean that it is 72v°72 qw3,*
but not that it is done 751n2% in this manner!*

22 See footnote # 9.
2 See footnote # 18.
* See footnote # 5.
2 See [TrwA] R"wAn.
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